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CHAPTER 3
PAIR OF LINEAR EQUATIONS IN TWO VARIABLES
IMPORTANT CONCEPTS

”

.

e For any linear equation, each solution (x,y) corresponds to a point on the line. General

form is given by ax + by + ¢ = 0,where a,b,c are real numbers.
e The graph of a linear equation is a straight line.

« Two linear equations in the same two variables are called a pair of linear equations in

two variables. The most general form of a pair of linear equation is:
a,x+by+c =0,ax+bytc= 0

where ay, @, by, by, 1, ¢; are real numbers, such that a?+b? # 0, as+ b # 0.
o A pair of values of variables X’ and ‘v’ which satisfy both the equations in the given
system of equations is said to be a solution of the simultaneous pair of linear equations.
e A pair of linear equations in two variable can be represented and solved, by

(i) Graphical method: The graph of a pair of linear equations in two va

presented bytwo lines.

riables is

(i) Algebraic method. Following are the methods for finding the solutions (s) of a pair of

- linear equations.
5 Substitution method
» Elimination method
» Cross-multiplication method.

e There are several situations which can be mathematically represented by two equations
that are not linear to start with. But we allow them so that they are reduced to a pair of

linear equations.

« Consistent system. A system of linear equations is said to be consistent if it has 'at least

one solution.

e Inconsistent system. A system of linear equations is said to be inconsistent if it has no

solution.
« Conditions for Consistency

Let the two equations be:a; ¥ +bhy+c,=0,ax+by+c;= 0

Then, :
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ASSIGNMENT

Sum of two numbers is 35 and their difference is 13.find the num’bers.

The difference between two numbers is 26 and one number is three times the other . find the
numbers.

The sum of two digit number and number obtained by reversing the order of the digits is 66. if the
digits of the number differ by 2 .find the number. how many such numbers are there ?

The sum of digits of two digit numberis 9 . also nine times this number is twice the number obtained
by reversing order of digits.find the number.

. The sum of digits of two digit numberis 9. if 27 is added to the number ,the digits of the number

gets reversed. find the number.

Two numbers are in the ratio 5:6..if 8 is subtracted from each of the number .the ratio becomes 4:5
find the number . :
A two digit number is obtained by either multiplying the sum of the digits by 8 and then subtracting 5
or by multiplying the difference of the digits by 16 and then adding 3 .find the number.

If three times the larger of the two numbers is divided by the smaller one ,we get 4 as the quotient
and 3 as the remainder .also if seven times the smaller one is divided by the larger number we get 5
as the quotient and 1 as the remainder .find the number . '

The sum of two digit number and the number obtained by reversing the reversing the digits is 110 . if
10 is subtracted from the number ,the new number is 4 more than 5 times sum of the digits in first
number . find first number . ’

The sum of two digit number and the number obtained by reversing the reversing the digits is 132. If
12 is added to the number ,the new number becomes 5 times the sum of the digits .find the number.
The sum of digits of two digit number is 8 and the difference between the number and that formed
by reversing the order of the digits is 18 .find the number .
In a two digit number,the unit’s digit is twice the ten’s digit

{if 27 is added to the number the digits,
interchange their places find the number . ;

In two digit number ,the ten’s digit is three times the unit ‘s digit . when number.is decreased by 54
,the digits are reversed .find the number . :

The sum of two numbers is 1000 and their difference between their squares is 256000. Find numbefs

Seven times a two digit number is equal to four times the number obtaine
the digits.if difference between the digits is.3 .find the number .
A two digit number is 4 times the sum of its digits and twice the
number.

A two digit number is such that product of the dlglts is 20

if9is added to the n digits
interchange their places . f]nd 'h,;e- "A‘,-'Eb er. umber the dig
e B f‘,f“.(, e , e i :
The sum of two digut number is 15 the number obtained by reversing the order of the digits of given
number exceeds given number by 9 . find the number . ng th _ .
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